Final Edition - Junior Individual Competition – Answers With Some Sketch Solutions

For a complete solution to any problem email Ryan Holm at rholm@microage-tb.on.ca
Multiple Choice

1. C

2. E

3. D

4. E

5. E

6. E

7. C

8. D

9. A

10. D

11. C

12. B

13. C

14. D

15. B

Full Solution

1.  4
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 - 8.
Simply subtract the area of the right triangle from that of the quarter of the circle.

2.  6.
x = 2 and y = 1 gives the minimum.  To see this minimize the x terms and the y terms separately by trial and error.

3.
This set of points will be the straight line connecting A and B.  This set of points can easily be shown to satisfy the given and the triangle inequality eliminates any other possibilities.

4.  40
Let x be the number of degrees the hour hand travels during this time.  Since the minute hand traverses 12 times as many degrees we solve 12x = x + 110 + 110 to find x = 20.  Then the minute hand traversed 20 + 110 + 110 = 240 degrees total so the man was away for 240/6 = 40 minutes.

5.  
If p = 2, the expression is 30 and hence composite.


If p = 3, the expression is 35 and hence composite.


If p > 3, write 
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.  Then since p = 3n + 1 or p = 3n + 2, in both cases the expression is divisible by 3.
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